0
s

bar{A\}/K
O
\]

Ratio to LHCB

7000 GeV pp ISoft QCD

] I e L —
- AIKOS vs |y|(0.65 < p_< 1.00 GeV) ]
. m  LHCB ]
- Pythia 6.425 355 ]
.5 Pythia 6.425 356 .
B Pythia 6.425 ambtl -
— ——— Pythia 6.425 z2 _|
: H [ | - - :
L . 7
_ ¥ooeoe SO - L - B
: D -------------------------- @ """""" é .‘..‘.,—..—..—....__,_.._.._.._.._A._.._.g ]
- . - Jr\+/{ 7
u I I | | | RS | | | L
= [ | =
B )i‘““-—--____ ____,__,___._.._--_--_--_"_. -_--_--_--_--_--_-u_n,..—_r_:,:&:_.___‘ _________________ —
| D"——%—- ----- % @ ]
: - + : % — ]
| | |

Rapidity (y)

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


